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sin X, COS X, tan X, CSC X, Sec X, cot X
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sin (2x) = 2sin(x) - cos(x)
cos(2x) = cos® x—sin® x
sin(—x) = —sin(x)
cos(—x) = cos(x)
sin(X + y) =sin Xcos y + cos xsin y
COS(X+ Yy) =C0oSXCcosy —sin xsiny
tan x = sin x/cos x
cot x = cos x/sin x
secx =1/cosx
cscx =1/sin x

-2 020NN 00y LT
sin0=0,cos0=1
sinz/4=+212,cosxl4=1212
sinz/2=1cosxz/2=0
sinz =0,cos7r =-1
sinl.57 =-1,c0s1.57 =0

(752 21WT) 2N Pt (4

(7w + 0°02) P W ANTAT LK
-VI1IDOPR W NP0 NINDN .2
aras — aI’-%—S
a'/a*=a"?
a'=1/@")
(ab)" =(a")(b")
(ar)s — ars
-an e YW T A
x=log,y ™R y=a" ON

(>r5) anvML YW NPODA MDD LT



log, (xy) = log, x+log, y
loga(§> = log, x - log, y
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log, x =Inx
e=2.7182818...
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